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QUESTION 1

A customer uses Alibaba Cloud Auto Scaling service and creates a scaling group. He/she sets the "Minimum number of
instances" to 6 and "Maximum number of instances" to 8.

After correctly configuring scaling settings, the customer adds a scaling rule "Remove 5 ECS instances"”, and creates a
scheduled task based on this rule.

And then, the customer checks the scaling group and see it already contains 8 valid ECS instances, he/ she then
enables this scaling group immediately.

How many ECS instances are left in the scaling group when the scheduled task is activated once?
A. One

B. Six

C. Zero

D. Five

Correct Answer: C

QUESTION 2
Which of the following statements is wrong when comparing RDS with self-built database?

A. RDS features a high availability of 99.95% while self-built database requires you to implement data protection,
primary-standby replication, and RAID all by yourself.

B. RDS provides automatic backup while self-built database requires you to prepare storage space for backup copies
and regularly verify that these copies can be restored.

C. Self-built database supports quick deployment and elastic scaling.

D. RDS requires no OandM while self-built database requires a dedicated DBA for maintenance, which results in high
HR cost.

Correct Answer: C

QUESTION 3

Your website has oscillating traffic peaks that are difficult to predict in advance. In this scenario, it is recommended to
use SLB and together with ECS.

A. RDS
B. Auto Scaling

C.VPC
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D. MaxCompute

Correct Answer: B

QUESTION 4

You are developing a highly available web application using stateless web servers. Which services are suitable for the
application? (Choose three.)

A. RDS

B. SLB

C.ECS

D. MaxCompute

E. 0SS

Correct Answer: ACE

Reference: http://docs-aliyun.cn-hangzhou.oss.aliyun-inc.com/pdf/sib-fag-intl-en-2017-03-29.pdf

QUESTION 5

A company wants to use Alibaba Cloud service to replace their self-built database, which of the following services
should it choose?

A. AsparaDB for RDS

B. Server Load Balancer (SLB)

C. Alibaba Cloud CDN (Content Delivery Network)
D. Deploy more ECS instances

Correct Answer: D

QUESTION 6

Alibaba Cloud Monitor service stems from years of experience of server monitoring technology in Alibaba group,
leveraging the powerful data analysis capability of Alibaba cloud computing platform to provide monitoring service for
various clients\\' applications and servers. A user receives an alert saying that the IOPS utilization rate for an ECS
instance exceeds 80%. Yet, he/she is not sure how to handle the situation, the user may obtain help from Alibaba Cloud
through the below methods ? (Choose three.)

A. Check ECS or CloudMonitor product documents.
B. Open a ticket to Alibaba Cloud help desk.

C. Look for answers in Alibaba Cloud forum.
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D. You cannot obtain any help from Alibaba Cloud.

Correct Answer: ABC

QUESTION 7

Your website has high volume of traffic and sudden spikes for a very short time. In this scenario, can
manage traffic peak efficiently and maintain a consistent user experience.

A. Server Load Balancer
B. Auto Scaling

C.RDS

D. VPC

Correct Answer: B

Reference: https://www.alibabacloud.com/blog/designing-a-cloud-based-architecture-for-internet-ofvehicles-iov-series-
ii_594263

QUESTION 8

If you are running an online ticket booking service with relatively fixed traffic, then which kind of charging mode is more
suitable for you?

A. Pay-As-You-Go
B. Prepaid

C. Paypal-pay

D. bitcoin-pay

Correct Answer: A

QUESTION 9

RDS provides whitelist access policies. You can set permitted IP addresses and IP network segments to effectively
prevent hackers from attacking the server by port scanning.

A. TRUE

B. FALSE

Correct Answer: B

Reference: https://apsarastackdocument.oss-cn-hangzhou.aliyuncs.com/01_ApsaraStackEnterprise/ V3.5.2-intl-

en/Alibaba%20Cloud%20Apsara%?20Stack%20Enterprise%201808%20Security%
20Whitepaper%20-%2020180831.pdf
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QUESTION 10

Multiple lower-configuration I/O-optimized ECS instances can be used with to deliver a high-availability
architecture.

A. Server Load Balancer
B. RDS

C. Auto Scaling

D. 0SS

Correct Answer: A

QUESTION 11

A/AN is a copy of data on a disk at a certain point in time.

A. image

B. snapshot
C. template
D. EIP

Correct Answer: B

QUESTION 12

Auto Scaling is a management service that can automatically adjust elastic computing resources based on your
business needs and policies. It supports adding an existing ECS instance into the scaling group but imposes certain
requirements on instance region. In this case, which of the following statements is true?

A. The instance and the scaling group must be in the same region but not necessarily the same zone.

B. The instance and the scaling group must be in the same region and zone.

C. The instance and the scaling group can be in different regions and zones.

D. Each scaling group can span up to two regions. After adding the ECS instance, the number of regions of all the ECS
instances in the scaling group must be no greater than two.

Correct Answer: B

QUESTION 13

Server Load Balancer can manage sudden spikes in traffic, minimize response time and maintain 99.99% availability of
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your web application.
A. TRUE

B. FALSE

Correct Answer: A

Manage sudden spikes in traffic, minimize response time and maintain 99.99% availability of your web application with
Server Load Balancer. Reference: https://arcelon.co.id/product/server_load_balancer.php

QUESTION 14

Alibaba Cloud Object Storage Service (OSS) is a massive, highly available, secured and cost effective storage service.
OSS is superior than self-built storage in all these aspects. Which of the following advantage relates to the high
availability of OSS?

A. Availability actually relies on the underlying hardware, which can break down easily. Once the hard disk malfunctions,
it can also lead to permanent data loss.

B. Data Reliability is not less than 99.99999999%. Data is backed up automatically with multiple redundant copies.
C. Data has to be backed up by customer manually, which is time-consuming and labor-intensive.

D. The following features are available: Multiple Authentication and Authorization mechanism, Whitelist, Anti-leech URL,
and Master-Sub Account

Correct Answer: B

Reference: https://www.alibabacloud.com/blog/alibaba-cloud-object-storage-vs--ibm-cloud-and-oraclecloud-
equivalent_293464

QUESTION 15

Which 2 OSS object types can be configured as parameter for object lifecycle management? (Choose two.)
A. Infrequent access

B. Snapshot

C. Archive

D. Chunk

Correct Answer: AC
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